A & ol & AF & Ml A
20208 = =20lat =AY SEA
g 200 Mel+=¢
2 210 ZHEAA+Y
g 212 B2 (Sl &&)
Z2-2-8-5 Oll &F o & E Ol At Hns2
E5 Al 25,520,085 18,595,646 6,924,439
200 M2l +=¢ 7,710,285 7,368,646 341,639
210 & HAN 2= 7,472,293 7,222,652 249,641
212 AHBE ¢ 6,673,466 6,423,825 249,641
212-04 &= AIEZ 6,673,466 6,423,825 249,641
< =T MFA > 6,673,466 6,423,825 249,641
onge 4,318,469
NERS 4,026,649
-1 (1~10€) 7102 +3,068,422& 2,178,579
-2&H 2 (11~30E€) 870 +1,698,277= 1,477,500
-3&H 2 (3101 & 1,090& *339,973& 370,570
73RS 291,820
—13mm 990& x21,6028 122 256,631
—20mm 1,660 *3218 122 6,394
—25mm 2,000 *2388 x 128 5,712
—-32mm 3,260 x26 8 x 128 1,017
—40mm 5,160 «33& x12& 2,043
=-50mm 9,270 «34 X 128 3,782
—75mm 16,8703 x6 8 128 1,214
—100mm 27,210« 188 » 128 5,877
—150mm 64,1702 x9& 128 6,930
—-200mm 92,540 x28 128 2,220
oget= 1,739,651
NERS 1,648,725
-1 (1~-50E€) 990& %860,715& 852,107
-2&b 2 (51~100€ ) 1,190& 179,328 & 213,400
-3&H2 (10101 &) 1,470& 396,747 & 583,218
732 90,926
—13mm 9903 *4,098%& 128 48,684
—20mm 1,660 x5128 122 10,199
—25mm 2,000 #4328 x 128 10,368
-32mm 3,260 x56 8 x 128 2,190
—40mm 5,160& «60& x12& 3,715
—50mm 9,270% «88& x12& 9,789




g 200 Mel+=¢
2 210 ZHEAA+Y
g 212 B2 (Sl &&)
Z2-2-8-5 Oll &F o & E Ol At Hns2
—75mm 16,8703 x16 &8 «12& 3,239
—100mm 27,2103 x58 x 128 1,632
—200mm 92,540 x 18 128 1,110
ounsgs 73,621
MNERS 72,321
-1E A (1~500€ ) 9103 *29,361& 26,718
-2&H2 (501~1,000€ ) 1,070& 12, 743& 13,635
-3&H21(1,00101 &) 1,2108 %26,420& 31,968
R R =] 1,300
—20mm 1,660 18 123 19
—25mm 2,000 28 x12& 48
—32mm 3,260 x1&«x12& 39
—40mm 5,160 x2& x12& 123
—50mm 9,270 «6 & x12& 667
—75mm 16,8703 =28 12 404
ougs 541,725
ANERS(EE) 6603 *811,907& 535,858
73R 5,867
—13mm 9903 »39& x12& 463
—20mm 1,660 «8& x12& 159
—25mm 2,000 ~61& 122 1,464
—32mm 3,260 «6& x12& 234
—40mm 5,160 «10& x12& 619
=-50mm 9,270 «158 x12& 1,668
—75mm 16,8703 x3&8 12 607
—100mm 27,2103 x28 x 128 653
213 =8¢ 64,918 64,918 0
213-04 JIEt===& 64,918 64,918 0
< =T MFA > 64,918 64,918 0
Osx3At €dl=2 3,280
13~ 32mm 4,000& «780H 3,120
. 40mm O] & 8,000& »20& 160
OMgZA =2 3,280
13~ 32mm 4,000& *780H 3,120




09 i 0

200 Al2l=+=¢

210 o HAM A=
ol

213 ==2¢ (Sl &&)
Z2-2-8-5 Oll &F o & E Ol At Hns2

. 40mm Ol & 8,000& «20& 160

OESBAMN==E 3,280

13~ 32mm 4,000 «780& 3,120

40mm O] & 8,000& «20& 160

Odt=EAEE = =8 2,753,900,000& *2% 55,078
214 At =g 713,909 713,909 0
214-05 2g=+¢ 116,800 116,800 0
< =S MFA > 116,800 116,800 0

OANE=zE23 116,800

13mm 96,000 *690H 66,240

20mm 192,000& »40%& 7,680

. 25mm 320,000& »40H 12,800

. 32mm 576,000& =10& 5,760

. 40mm 880,000& =10& 8,800

. 50mm 1,552,000& 10 15,520
214-09 JIEFME = ¢ 597,109 597,109 0
YA > 597,109 597,109 0

OudSAt=¢ 597,109

KT CH (=S 01ED1) 39,967

—13mm 44,4003 «690H 30,636

—20mm 50,200 «40& 2,008

—25mm 73,900 «40H 2,956

—-32mm 97,900 «10& 979

—40mm 148,900& »10& 1,489

—-50mm 189,900& »10& 1,899

MU (=S HHIESS) 81,342

—13mm 91,800& *690H 63,342

—20mm 125,100& »40& 5,004

—25mm 134,300& »40& 5,372

—32mm 185,000& »10& 1,850

—40mm 270,200& x10H 2,702

—-50mm 307,200& x10H 3,072

=S 3 AtHI 475,800

-2 Bt=E Ot 1,400, 000& »297 & 415,800




200 Al2l=+=¢
210 o HAM A=
214 At =g

09 i 0

-2 0l &t o 0 ot o HZE2
-SZ2A=+E 20,000,000& +x3M 60,000
216 Ol Kt==¢ 20,000 20,000 0
216-01 220 S0l Xk == 20,000 20,000 0
<M AYAS > 20,000 20,000 0
O30 30l A=< 20,000
220 SAEM =L 237,992 145,994 91,998
224 JIEt==¢ 21,684 7,994 13,690
224-01 2SS0 6,684 6,994 A 310
< METAYA > 6,684 6,994 AB10
OS2ENH2AU( +SOEDN) 6,684
1301 2l 2,897& x0.85kg*2,400& 5,909
2001 el 748 x1.20kg %2, 400 213
2501 el 90& x1.50kg*2,400& 324
3201 el 108 +1.80kg *2,400& 43
. 4001 2| 78 %2 .50kg %2, 400 42
5001 el 8& x4 .50kg*2,400& 86
7501 el 68 x14kg 2003 16
10001 2| 8& «20kg x200& 32
15001 2| 28 x30kg x200& 12
20001 2| 18 »35kg x200& 7
224-06 122 15,000 1,000 14,000
< M= AYA > 15,000 1,000 14,000
Oo&=+=¢ 1,000
OZ2gHIA 2HA 14,000
225 XdtdH ¢ 216,308 138,000 78,308
225-01 Xt & =+¢ 216,308 138,000 78,308
< AT ALY > 216,308 138,000 78,308
OHd"E =&Jt 0 216,308
500 X3 8,609,800 3,127,000 5,482,800
510 2DExX3S 7,076,000 3,127,000 3,949,000
511 2nE2x3s 7,076,000 3,127,000 3,949,000
511-01 = 1E2X3 98,000 0 98,000
< AT ALY > 98,000 0 98,000
OH&AN =4 98,000
511-02 Iz 8gA 6,978,000 3,127,000 3,851,000




& 500 2=
2 510 =02x3S
g: 511 = 1EX=SS

Z2-2-8-5 Oll &F o & E Ol At Hns2

<as=EMEA > 6,978,000 3,127,000 3,851,000
OZ=&E=& gAY 4,869,000
OsHEMES LAY 2,109,000

520 Al - SHIEEXZ=S 1,533,800 0 1,533,800

521 Al - EHIEXZS S 1,533,800 0 1,533,800

521-01 Al - THIEZXZ2S 1,533,800 0 1,533,800

MM > 1,533,800 0 1,533,800
OZ=E=& gAY 973,800
OsHELESHL ALY 560,000

700 EX =L SHUENH 9,200,000 8,100,000 1,100,000

710 284S 400,000 400,000 0

711 4= 400,000 400,000 0

711-01 =MAHLAHS 400,000 400,000 0

< MM > 400,000 400,000 0
Oz=MALAHS 400,000

720 LH S A ch 8,800,000 7,700,000 1,100,000

721 M= 8,800,000 7,700,000 1,100,000

721-03 JIEt 2l A& L = 8,800,000 7,700,000 1,100,000

< d=EMFEA > 8,800,000 7,700,000 1,100,000
@F=-13-1 [FSRR= 8,800,000




